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Ry VYN = P
INZFEZFRES
PR BIBEZI
itz TiE &L e J1 BULEsSe Turn J—2707«4—JU
FESZHE TETERF J2 JIIfBTE Turn £ 240 m
BREEER SNESE J3 NLEBRA Turn £@ 20 m
HERE WOA— J4 BERWF  Ar WHO-WT -k 14 m
I—-EE DAY J5 NBEAB  Air EHORE 27 B
Paceset time 4800
1\ SRS B Y% Air DDIE, £95AKFDHERTIHE
NFERSFRE1 A8 S N9 4800
Turns Air‘ Ti Speed SCORE
a2 B 7 J5 ~J CODEn ime | B
surt BB K& PRE Total Ist 2nd 1st ond  Ist  2nd Total on
111 6% %A REN 46 40 58 144 30 42 35 40 S TS 397 3935 2000 3837
2|2 ERR K& T 22 20 47 89 26 30 25 45 S K __ 313 4407 1862 3065
3|3 hwm =2 R 26 31 44 101 22 24 21 18 K TS 224 4499 1801 3035
414 WO A3 =Alihs 29 52 52 133 23 32 30 40 S TS 339 4551 1766 3435
5|5 #& TS WoFrh? 01 01 01 03 22 25 30 15 K TS 250 5033 1444 1724
6|6 FYEYD IV uE)Z 34 43 41 118 35 38 38 40 K TS 415 4336 1909 3504
7|7 A A KRS 25 46 40 111 32 30 31 30 K TS 337 4269 1954 3401
I \r“‘u Er"“u N=Fa¥
NFERSFFRE2ERE o 4800
a 52 s 53 U4 5 Ai'\ J CODE Time Spoeed SCORE
r = int
o] BB K& FRZ 2] st o 1st ond dst oeg | O o
111 6% %A REN 69 55 68 192 39 46 40 45 S TS 457 4013 2000 4377
2|2 ERK K& )5 34 43 55 132 23 27 34 40 S T 297 4493 1805 3422
3|3 w2 R 23 32 44 99 36 35 30 31 K TS 362 4937 1508 2860
414 WO Ak =AWhE 27 64 64 155 23 28 25 30 S TS 286 4533 1778 3614
5[5 #8& =S WoFrs 01 06 20 27 22 24 K 117 5336 1242 1629
6|6 FYEVD IV uE)Z 03 30 07 40 42 20 32 19 K TS 303 4538 1775 2478
7|7 EE A KRS 41 44 44 129 30 33 21 22 K TS 291 4467 1822 3403
total R D P =IRIE
56| BB K& FRB SCORE
11|52 =28 SEE\ 8214
2lalwo A =AW 70.49
3|7 |88 A Iz 68.04
4|2 |/ERA AE )\ 64.87
56|y IV s 59.82
6 3| = BRI 5895
7 5|08 =% WIDFRT )\ 3353
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Ry =
INE BSFRFLF
55 RR91805)
RE TE B%® sug J1 BUEE Tun J—27024 =)L
FESHE TEETETF J2 It E Turn £ 240 m
BRAREE e J3 MEHB  Tun 208 20 m
HEFEE WOA— J4 BERWF  Ar WO -b 14 m
I-2URE PAIREST J5 FBEAR  Ar THRE 27 =
Paceset time 4800
IS BSELT1 A Y Air DDIE. £V RALXFOHEATHE D
BSIAEEZI N-W9h 4800
Turns Air ‘ Speed
5 J2 33 Ja J5 —J CODES Time | Yoo | SCORE
st BIB K& PREB Total 1st 2nd 1st ond  1st  2nd Total on
18 =g #H  —eane 75 66 72 213 52 45 50 42 S TS 500 3668 2000 4630
2] 9 wE BRE B 01 04 01 06 28 30 35 39 S TS 354 4554 1764 2178
3|10 #%F H@E  KS) 01 01 01 03 23 42 23 45 S TS 366 4348 1901 2297
INFERFELF2EE .
N-JL 4800
al R I 3 - [ J CovES Time | 2eed | score
sar| BIB K3 FRE Total |yt ond tst ond  dst  ond | T
118 =& W5 —eodnw 75 61 75 211 54 50 51 40 S TS 547 3775 2000 4627
2] 9 wE BRE B dnf 000 000 000 000
3|10 #8% #@ZE Ko 01 03 11 15 38 50 25 40 K TS 425 4867 1555 21.30
total R D P RIRRKHE
s | BIB K& FRE SCORE
1| 8 =g S5 —toinE 9257
2105 BB |RENE 4427
3|0 i me B 2178
T o (D)X B ITANT X F—L - FgR F—E
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2025%3H208
INFERFETF
B RBRILESZ) ]
Btz Iig B J1 BUHEsS Turn OJ—-27JO0J1-)
FESBHE TiETET J2  IIBt8 Turn E 240 m
BREER BIES J3 NEHB Turn 218 20 m
BREE WOA— J4 REZ®HTF  Ar WM b 14 m
JI-2RE PAIIEST J5 NBEAR A TONE 27 B
Paceset time 3400
Y ArDDIE, 275 AKX FDHERTHE
N -291h 3400
IFBFEFRF 148 Turns A Speed
Ji J2 J3 |Total |y4 |45 ~J CODE Total | TiMe P%?ﬁt SCORE
Start _BIB K& ERE Ist_ ond Ist  ond st 2nd
1 11 3R &3 BYRKk I\ 5 73 73 75 221 38 40 35 40 S bp 499 3718 1300 4009
2 12 Mm@ 1x BEI\ dnf 000 0.00 000 0.00
3 13 X8 B2 BHTE o1 01 01 03 25 30 S 132 5479 000 162
4 14 nogE & B\ 59 62 77 198 32 49 40 45 S TS 449 3814 1210 36.39
5 15 KO #& 7\ 47 70O 59 176 27 23 43 15 S TS 279 4692 384 2423
6 16 B2 Kith BRI 63 71 90 224 50 28 55 30 K bp 502 3652 1363 41.05
7 171 Es BS WDFhE 06 08 07 21 32 27 27 30 S TS 309 4138 905 1424
8 18 &iF (BQ Keps/h 56 45 62 163 48 36 50 41 S bT 534 3634 1380 3544
o 19 g = EOFNF 28 46 51 125 54 20 42 21 S T8 371 3954 1078 2699
INFEREFHF 248 Turns Air
g d2 g3 [Total |y J5 FJ CODE1 | Total | TMe Foed | scoRE
Start _BIB K& ERE Ist__ 2nd Ist  ond st 2nd
1 11 3R FE RSB\ 74 81 86 241 43 36 45 32 S bT 475 3606 1406 4291
2 12 @ X BENS 45 34 48 127 28 26 29 20 S K 253 4882 205 17.28
3 13 X8 B2 BRI 56 53 52 164 12 20 12 19 S T 150 4747 332 2092
4 14 noggE &= BRI 67 58 61 186 24 37 30 39 S TS 353 3871 1156 3369
5 15 KO # FDIE 57 60 64 181 34 40 39 28 S TS 375 4587 483 2668
6 16 182 Kith ORI 72 67 77 216 43 30 41 35 K bp 477 3673 1343 398
7 11 B8 EBE WOFNE 41 38 44 123 25 30 25 35 S TS 311 4173 872 2413
8 18 %ix Ba REBERI)\S 74 68 88 230 35 30 42 38 S bT 449 3755 1265 4014
o 19 Zig = SO 62 58 65 185 40 54 38 41 S TS 457 4007 1029 33.36
INFEPERF Total SCORE lEfi15=
IEfii | BIB K& FRE SCORE
1] 11 3R &3 BARk/F 83.00
2| 16 |82 Kb RDIRINE 80.85
3 18 |tk B[O AERNZ 75.58
4 14 |[hoggE & BRINSE 70.08
5| 19 |&EE fF =tftDFNEE 60.35
6 15 [KO # AN 50.91
7 17 B 8BS WDFINE 38.37
8| 13 |x& HCS BHFNZF 2254
9 12 B X =il 17.28
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PR L3
FRIRBI6EZI
Rtz Tk R gyg J1 BUHSE  Tun 2—-XX7Ja2J+ -
FESBHE TETEF J2 JIIEXE  Tumn R 240 m
MEREER SESR; J3 NEBRB  Tumn 18 20 m
HRER WoOA— J4 EERAWF Ar WH-V - 14 m
I—XRRE PFIEEST J5 FHEBABRS Ar THRE 27 =
Paceset time 3000
a2
PFLF1FE BERANE I N 91k 3000
Turns Air Speed
J1 28 | o Ja J5 P CODE [ por | Tme | poine | SCORE
Start BIB K& FRB Ist  ond  1st  ond  1st  2nd
1 20 hogE ZEFI(DNS) HERDZ dns 000 000 000 0.00
2 21 AHUNY FTaF  TRIE"_pF 01 01 01 03 17 20 12 11 S TS 160 5130 000 1.90
3 22 ERK EiE Bz 70 66 77 213 43 40 52 38 S TS 457 3912 627 3214
4 23 EE BE BERchE 90 89 99 278 56 38 30 45 S bp 541 3127 1464 4785
o
EP}Q?ZZIK g NS LAY 30.00
Turns Air Speed
J1 J2 B rotal J4 J5 ~J CODE~ Total Time | 5ont | SCORE
Start BIB K& FRB Ist  o2nd  1st  ond  1st  2nd
1 20 hoix EH EERPZ dns 000 000 000 000
2 21 AHUNY FaF  IRIE”"pF 01 01 01 03 24 23 15 20 S TS 220 5569 000 250
3 22 ERAK EiE Bz 01 01 01 03 35 37 40 41 S TS 409 4712 000 439
4 23 EE BE )il 08 101 97 206 43 37 42 30 S bp 474 3151 1439 4873
total R 3P — =& pkiE
lifz | BIB K& FREB SCORE
1 123 |Eig BE el 96.58
2 | 22 |/ERAK EiE A= 36.53
S |21 |A5UNY FT«F [TIRIE_pZ 440
4 | 20 |hoiE  ZFI(ONS) HERPZF 0.00
I (NENAIRZF—&EE -+ BhH BAITVWRF—I18 « FRAF—H=s
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PE BRBF
psalislisE]
ReffiEE I B |]HE U1 BB Tumn J-27074-)
IHESEHS THTET J2 JImtE Tumn £E 240 m
J—2RE PAIEN J5  AEBEARS Air WORE 27 B
Paceset time 2400
o
PEBFIEE N Ith 2400
Turns Air
02 B | o A B [ ome [ | Tme | $ed | score
sat BIB K2 FRE Ist _2nd  Ist _2nd  Ist  2nd
1 24 BUE FIKRpZ 80 78 76 234 33 40 30 32 S TS 363 4100 000 2703
2 25 )10 BA J\EFcpZ 01 01 OA 03 36 2.7 S 150 4430 000 180
3 26 BB #E FHAEPF 43 64 59 166 24 46 21 55 S TS 405 3988 000 2065
4 27 #B B9 iRl 66 78 77 221 44 56 41 57 S TS 536 36145 000 2746
5 28 WE BRX #BHBDZ 67 80 68 215 38 32 38 25 K bp 423 3660 000 2573
6 29 5Bz BHBFPS dnf 000 000 000 0.0
7 30 NE (P BPZF 120 126 128 374 52 39 50 29 bG bp 743 2500 1467 5950
8 31 /g # BRI 94 103 116 313 48 40 58 48 IG bp 843 2922 904 4877
9O 32 gl EZ HEDPS 20 63 614 144 32 20 25 20 K bT 301 4313 000 17.41
10 33 @R BE BEPF 69 94 92 255 45 43 38 30 TS TTS 496 3575 033 30.79
11 34 $EB EABR MERPZ 07 07 31 45 42 20 37 10 TS S 304 3108 656 1410
12 35 i # EHPE 01 01 OA1 03 39 01 30 01 S bL 173 4123 000 203
13 36 HE ZHE bEESR 01 01 01 03 10 10 S 048 4417 000 078
s
CP_?,—%?ZZK@ N -291h 2400
Turns Air
Ji ) 3| Total Ja J5 \ P CODE | ropa | TiMe Sp%‘?ﬁf SCORE
st BIB K& EFRE Ist _2nd  Ist  2nd  1st  2nd
1 24 BUE FHRpZF 75 58 614 194 23 20 21 18 S TS 217 4159 000 2157
2 25)II0 BA )\&pz 30 42 414 113 36 23 S 141 3804 000 1271
3 26 EB)I E RAEDPHF 54 42 59 155 47 51 22 55 S TS 477 4010 000 2027
4 27 B B9 [l 86 78 73 237 37 51 38 57 TS K 496 3617 000 2866
5 28 WE B wBHBDPE 52 49 43 144 37 40 48 39 K S 405 3728 000 1845
6 29 SiEzEem BHBPZE 20 09 19 48 35 36 42 35 S TS 393 3875 000 873
7 30 Wb PR EEegdhE 130 115 120 365 55 43 62 60 bG bp 955 2431 1558 6163
8 31 I\ # ERIpE 96 105 107 308 37 47 42 50 K bp 593 2952 864 4537
O 32 sk EE W HKEQH 37 37 47 1214 37 26 40 32 S bT 410 4160 000 1620
10 33 ER 9% BBPF 78 91 80 249 38 41 30 32 TS TTS 451 3460 186 3127
11 34 $HEB FEABR FEREPS 01 01 01 03 47 4.3 TS 265 3627 000 295
12 35 i #t s leat=z 40 24 41 105 34 39 21 40 S bl 439 3838 000 1489
13 36 HF ZHF JtEsSK 16 34 33 83 12 38 10 30 S TS 253 4051 000 1083
Total R P —=#RakiE
It | BIB K& FRE SCORE
1[30|#E P AP 121.138
231\ # ERIhZ 9414
333 @R gE |FEHDE 6206
427 |8 B3 |fERpF 56.12
5|24 |BLE FHDE 48.60
6|28 W2 BAX |BHHBPZ 4418
7126\ E8)I E |FHAEDF 4092
8|32 |mH FE |HEDH 3361
O | 34 |86 RARB |FERRDZ 17.05
10| 35 |3t #t BHPE 16.92
1125110 8A |/ \#PpF 14.51
12]36 (895 Z  |drEER 11.61
13| 29 | StEZ26h BHBFDZ 873
E2:3 (ZBNHIER F—ZE - Bl FAFORF—15 - FEIF—HE




